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Question Number : 1 Question Id : 908988411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A computer CANNOT 'boot’ if it does NOT have a/an ;

Options:
1 Operating System

> # Loader
- » Compiler

4 % Linker

Question Number : 1 Question Id : 908988411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 2 Question Id : 908988412 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which of the following protocols is used to access email on a remote webserver from a local client?

Options:
, % HTITP
> « IMAP

5 % FTP

4 % ICMP



Question Number : 2 Question Id : 908988412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, % HTTP
> v IMAP
- = FTP

. % ICMP

Question Number : 3 Question Id : 908988413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In MS PowerPoint, for what purpose can you use the shortcut key Ctrl + D?

Options:
1 « To duplicate the selected slide

- % To cut the selected slide

= % To paste the selected text or graphics

4 #% To create a new slide

Question Number : 3 Question Id : 908988413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:
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Question Number : 4 Question Id : 908988414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What is Windows Vista?
Options:
| % A processor

5 o AN operating System
5 % Aninput device

4 ® Atype of memory

Question Number : 4 Question Id : 908988414 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 5 Question Id : 908988415 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Word 2016, you can use for consistent document formatting.

Options:
1 % SmartArt

> % Chart
o Character and Paragraph styles

4 # PageMargin

Question Number : 5 Question Id : 908988415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 6 Question Id : 908988416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following fields of an e-mail hides the identity of the recipients?

Options:
1 % To
~ % From
= % Cc

4 « Bce

Question Number : 6 Question Id : 908988416 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
L » & (T
5 % A (From)

2 ® ﬁ;ﬁ- (CC]I

4, » SHEEr (Bec)

Question Number : 7 Question Id : 908988417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Refer to the image shown on the screen. Identify the name of this device.

=

Options:
1 % Hard Disk

- % RAM
5 w Microphone

4 « Pen Drive

Question Number : 7 Question Id : 908988417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1 ® B'I'é'%ﬁ?
. « TEl=o® HEEH FHiA(RAM)
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Question Number : 8 Question Id : 908988418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is NOT a basic type of DVD?
Options:

, » Readonly



- % Write once
= # Rewritable

4 w Blu-Ray

Question Number : 8 Question Id : 908988418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:
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Question Number : 9 Question Id : 908988419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is NOT a way to complete a cell entry?

Options:
, w Pressing Enter.

-~ % Pressing any arrow key on the keyboard.

5 » Clicking the Enter button on the Formula bar.

4 « Pressing Spacebar.

Question Number : 9 Question Id : 908988419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 10 Question Id : 908988420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
E-mail addresses separate the user name from the ISP using symbol.

Options:
1 ® &

Question Number : 10 Question Id : 908988420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 11 Question Id : 908988421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
OCR stands for

Options:
. + Optical Character Recognition

- % Optical CPU Recognition
« Optical Character Rendering

3

4 % Other Character Restoration



Question Number : 11 Question Id : 908988421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
| » Ao SiFer Nafaere (Optical Character Recognition)

> ® Hiftewer g RefFae= (Optical CPU Recognition)
3 % HifCewor FiFeT TR (Optical Character Rendering)

, » 3T HFeT TR (Other Character Restoration)

Question Number : 12 Question Id : 908988422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A popular application of computer networking is the World Wide Web of newsgroup called:

Options:
1 % News

» » Gateways
= o Netnews

4 w Gateway News

Question Number : 12 Question Id : 908988422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
. =0 (News)
1_ e Y

., » Ted (Gateways)

acega (Netnews)

=

g e =g (Gateway News)



Question Number : 13 Question Id : 908988423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In MS Word, pressing F8 key twice selects:
Options:

1 « aword around the cursor.

- # asentence around the cursor.

- % a paragraph around the cursor.

4 % entire document.

Question Number : 13 Question Id : 908988423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 14 Question Id : 908988424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the function of the justification button on the toolbar of Microsoft Word?

Options:
, » Todisplay a drop-down list of justification options.

o  To display and allow the user to align the text.

- % 1o open the justification dialog box.

4 # To center the current line.

Question Number : 14 Question Id : 908988424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 15 Question Id : 908988425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of these is the central device in star topology?

Options:
1 # STP server

> « Hub/Switch
= % PDC

4 % Router

Question Number : 15 Question Id : 908988425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, % THEHT HAX (STP server)
. &/ T (Hub/Switch)
. ¥R (PDC)

4 % ¥ (Router)

Question Number : 16 Question Id : 908988426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Microsoft Powerpoint how can you go back to previous slide during presentation?

Options:



, % Space bar

-  Left Atrow Key
- # Right Arrow Key

4 % Shift Key

Question Number : 16 Question Id : 908988426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, » T 91 (Space bar)

5. 0 T Fi (Left Arrow Key)
- arar T Fer (Right Arrow Key)

. TRIFE F (Shift key)

4

Question Number : 17 Question Id : 908988427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In MS Excel, which function is used to calculate depreciation, rates of return, future values and loan payment amounts?

Options:
, = Logical

> w Math & Trigonometry

= % Statistical

4 « Financial

Question Number : 17 Question Id : 908988427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 18 Question Id : 908988428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The usage of = ROUND(AVERAGE(GS : G12).0) in Microsoft Excel will yield:

Options:
| % Average of range G35 : G12

> % Rounding of range G5 : G12
= % Error conditions

4  First averaging of range G5 : G12 followed by rounding to the nearest decimal place

Question Number : 18 Question Id : 908988428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 19 Question Id : 908988429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is a blog?

Options:

1 % Online music



-~ % Intranet

- % A personal or a corporate google search

4 « A personal or a corporate website in the form of an online journal

Question Number : 19 Question Id : 908988429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
SATeT FT 87
Options:

| eSS T
EHW
. o IS AR A TH FLARE T FA

, o Hiersa TRH 9f¥eT & ¥ A F13 sOfFaed 1 TF FIEART J9HEe

Question Number : 20 Question Id : 908988430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
USB drives are also known as:
Options:

1 « Flash drives

> % Optical drives

= % Ports

4 % Universal state buy

Question Number : 20 Question Id : 908988430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 21 Question Id : 908988431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Access control based on a person’s fingerprints is an example of;

Options:
1 + Blometric identification

> % Characteristic identification
5 » Characteristic security

4, % Fingerprint security

Question Number : 21 Question Id : 908988431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 22 Question Id : 908988432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

To apply or remove bold formatting in MS-Excel 2013, press keys together.
Options:

1 B Ctrl + 1

> o Cirl +2

z # Cirl +3



4 R Cirl +4

Question Number : 22 Question Id : 908988432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
{ = Ctrl + 1

o @ Ctrl + 2
2 % Ctrl + 3

L% Ctrl + 4

Question Number : 23 Question Id : 908988433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the maximum font size vou can apply for any character in MS-Word?

Options:
; w 64 points
> % 124 points

- % 264 points

4 1638 points

Question Number : 23 Question Id : 908988433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS-Word # 5T off T & T 319 30Fa8 Fiee TS FaaT FT Fd 87
Options:

e 64 iz

, x 124 918

. « 264 915

, » 1638 95



Question Number : 24 Question Id : 908988434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following key combination can be used to apply subscript effect in MS Word?

Options:

1« Ctrl +=
> ® Alt+=
z 8 Ctrl+ &
4 ® Alt+&

Question Number : 24 Question Id : 908988434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS Word # ®afEsee woid o] X & v oot & & o5 Soft Haiei &1 39907 R o7 FenaT 272
Options:
1 ¢ Ctrl + =

oo® Alt"':
2 % Ctrl + &

L% Alt + &

Question Number : 25 Question Id : 908988435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

By pressing Ctrl — O together which action will be performed?
Options:

1 % Save document

> % Print document
z % Close document

4 v Open document

Question Number : 25 Question Id : 908988435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 26 Question Id : 908988436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which of the following registers is used to keep track of the address of the memory location where the next instruction
is located?

Options:
, % Memory address register

-~ » Memory data register
- % Instruction register

4 « Program counter

Question Number : 26 Question Id : 908988436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

| » HAY TEHE FIET (Memory address register)

> ® RART 22T THTeX (Memory data register)

. » SEFUF AT (Instruction register)

, » STIH &3 (Program counter)

Question Number : 27 Question Id : 908988437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The process of flooding a network system with requests is called:

Options:



, % Sync attack

Brute force attack

ra
®

G

= « DOoS attack

INFS Attack

o
®

Question Number : 27 Question Id : 908988437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

| ® f&% 37¢% (Sync attack)

g B 3Hcw (Brute force attack)

> R

e -c | 3¢+ (DoS attack)

, » UAUGUH HeF (NFS Attack)

Question Number : 28 Question Id : 908988438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which type of access is provided to the users if it shows available in the network icon?

Options:
1 % Wired access

Infrared access

ra
u

Blustooth access

Ll
®

4 « Wi-Fi access

Question Number : 28 Question Id : 908988438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

| % T1IS TERH (Wired access)



, » $THNE UHAT (Infrared access)

2 % sy TF8H (Bluetooth access)

, » TFE-FTS TEFEE (Wi-Fi access)

Question Number : 29 Question Id : 908988439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which print processor makes no change to print document?

Options:
1 « Raw

-~ % Text

- % FF appended

4 % NTEMF

Question Number : 29 Question Id : 908988439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1 T (Raw)

. cFre (Text)

P

. » UBUF w923 (FF appended)

, « T STATH (NT EMF)

Question Number : 30 Question Id : 908988440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
tab in advanced settings tracks who is using the printer and what type of access is being used.

Options:
1 %= Preview

> % Logged



5  Auditing

4 w Iracking

Question Number : 30 Question Id : 908988440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

91y (Preview)

1 %
, « @98 (Logged)

. » HIEFET (Auditing)

, % ofeaT (Tracking)

Question Number : 31 Question Id : 908988441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
BIOS is related with which process?

Options:
, = Compile

- « Boot
=z % Load

4 # Debug

Question Number : 31 Question Id : 908988441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, » FUEA / Compile

5 El;\?:."f Boot



5 % @S / Load

., » =997 / Debug

Question Number : 32 Question Id : 908988442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the key combination to apply or remove strike through effect in MS Excel?

Options:

1 % CIRL+9
> o CIRL +5
= % CIRL+8
4 % CIRL+1

Question Number : 32 Question Id : 908988442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS Excel # TT8% o HI oF] & I g0 & T St Fher 2 22

Options:

, » CTRL

+

9
, ¢ CTRL + 5

3 ® CTRL

+
(03]

. % CTRL

+
Y

Question Number : 33 Question Id : 908988443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which function rounds a number down to the nearest integer or to the nearest multiple of significance in Excel 20137

Options:

, « FLOOR.MATH
> » EQUAL
= % ROUNDUP

4 % ROUND



Question Number : 33 Question Id : 908988443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1 v+ FLOOR.MATH

., » EQUAL
- %« ROUNDUP

. % ROUND

Question Number : 34 Question Id : 908988444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which file format is used to save Apple iTunes Music Store audio?

Options:
1 ® Indc

> % mdb
= % Inda

4 m4p

Question Number : 34 Question Id : 908988444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1 & mdc

= % mda

4. v MAP

Question Number : 35 Question Id : 908988445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which file format is used to save Program executable file?

Options:



, » pexef
% pexe
3 o X6

4 ® exef

Question Number : 35 Question Id : 908988445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
9ETH TSIET AT WSS T HeSd & (0T Hid T WIS BIHC T 3TAET AT AT 27

Options:
. = pexelf

. % pexe
z  EXe

4 % exef

Question Number : 36 Question Id : 908988446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to expand or collapse the ribbon?

Options:
1 v CTRL +Fl

> % CIRL+F2
s % CTRL +F3

4 % CTRL +F4

Question Number : 36 Question Id : 908988446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Raer #1 7a= 3R oe= & v $o e #4782

Options:

. v CTRL + F1

, » CTRL + F2



- » CTRL + F3

. % CTRL + F4

Question Number : 37 Question Id : 908988447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

By using which tab can you add digital signature in OpenOffice Writer?
Options:

1 « File

o % View
=z % Insert

4 % Tools

Question Number : 37 Question Id : 908988447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
forg &8 #T 39AET FF AT open office writer F BfSee gzaer s g &2

Options:

o TR

Question Number : 38 Question Id : 908988448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which component contains most recently fetched instruction?

Options:
1 % Instruction data

- % Instruction buffer

5 % lnstruction pointer

i Instruction register



Question Number : 38 Question Id : 908988448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
g Faaee # g & 7 9o forar wmar Fder g 72
Options:

| » SECFF I (Instruction data)

o % ST 9 (Instruction buffer)

. » SEZFUS UiseX (Instruction pointer)

, » TEEFIT USIET (Instruction register)

Question Number : 39 Question Id : 908988449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is also known as key chain drive?

Options:
, » Keyboard drive

Hard drive

2
u

3 # Diskdrive

4 + USB drive

Question Number : 39 Question Id : 908988449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
f=of@a 7 o 8 & 37 g7 of = s 22

Options:



Question Number : 40 Question Id : 908988450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Parallel port is also known as:

Options:
1 ® PS/2 Port

5 % USB port

5  Printer port

, # Keyboard port

Question Number : 40 Question Id : 908988450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

$yerer O F T T 1T g

Options:

, % HTH/2 91 (PS/2 Port)
o x Ed gre (USB port)
. » el e (Printer port)

, « s 91T (Keyboard port)

Question Number : 41 Question Id : 908988451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
connects your computer to a phone line.

Options:
1 # Serial

Parallel

P2
8

Network

L
u

4 « Modem

Question Number : 41 Question Id : 908988451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



T FTUET ' UF Bl oS & sl g
Options:

| x GRS [ s
- % AR | Rerer
3_%?&#

4 o ASH

Question Number : 42 Question Id : 908988452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
CRT is tube.

Options:
1 & vacuum

> % hollow
= % round

4 % long

Question Number : 42 Question Id : 908988452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
CRT __ zI& ¢l

Options:

1_,-_,?%3;'?'-
> % GrEe
3_%33?;1?

4 % oET

Question Number : 43 Question Id : 908988453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A enables you to connect your computer to the available internet connection over the existing telephone line.

Options:



1 « modem
> w bridge

switch

Ly
®

4 % hub

Question Number : 43 Question Id : 908988453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

FISET TP TS T U6 AT Hholereled T I HIE Bl HoAde et & TorC I @l
TeTH FLT T5T |
Options:

. » HISH (modem)

. &= (bridge)

i

fEa=r (switch)

o R

4 ® ﬁ (hUb}

Question Number : 44 Question Id : 908988454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is used for sending and receiving mails?

Options:
, « Outlook express

> % Nagios
=z % Outlook access

4 % Netmon

Question Number : 44 Question Id : 908988454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

T § O s 39T 89 89 3T 9o #7 & =Bw & a3 §7

Options:
| o FEETH TFO9d (Outlook express)



, w AEE (Nagios)

.y HTBETH TFHH (Outlook access)

, » AcAE (Netmon)

Question Number : 45 Question Id : 908988455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Microsoft PowerPoint, the entry effect as one slide replaces another in a show is called:

Options:
1 % Animation

> « Slide transition
= % Custom animation

4 # Preset animation

Question Number : 45 Question Id : 908988455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Microsoft PowerPoint #, 2if # T T@TSs & g8{ TASS H Fgale arel Tl Shae Fed 2
Options:

. % U (Animation)

, » TS ZrSiee (Slide transition)
. % HEEHA TArAA (Custom animation)

, » ST THAAYS (Preset animation)

Question Number : 46 Question Id : 908988456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Microsoft Word. what happens when vou double-click on the word?

Options:
1 % It deletes the word.

> « It selects the word.



- % It moves a word to a new location.

4 % It spell checks the word.

Question Number : 46 Question Id : 908988456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MSWord &, f&dr g U7 'Seo-Faes & & &7 28T 87

Options:

e FT geT T &

®

: |

o o U HT TTT T &

e N T A7 TUF 9T of T &

L
u

oTeg Shr T ST &

o
B

Question Number : 47 Question Id : 908988457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT considered to be a biometric method of identification?

Options:
1 +« Card reader
> % s recognition

5 » Fingerprints scan

4 % Facial scans

Question Number : 47 Question Id : 908988457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
fafafea 7 @ 0 ggere & safes RS & 0 & 787 | s 82

Options:
. @12 {=T (Card reader)
. » AERT R@Pa= (Iris recognition)

- » heRTE Toha (Fingerprints scan)



., » BRI Fhat (Facial scans)

Question Number : 48 Question Id : 908988458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The is an initiative of the Government of India to make all the government services available to the citizens of
India via electronic media.

Options:

, « NeGP (National e-governance plan)

- % National ecommerce plan
- % National electronic guidelines policy

4 # Native electronic guidelines policy

Question Number : 48 Question Id : 908988458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Sl HITSAT & AN W 8 & AR H Wl WIFET T 390 0 F o o
HIFT &7 TF 98 2
Options:

| v TS (TG 3ATEAT Arste)
o« TS SHIAY el

5 x TS Folgliee feemfader A
, » T FomlteTs EAfege At

L

Question Number : 49 Question Id : 908988459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
chart is most suitable to indicate fluctuation of annual temperatures in MS Excel.

Options:
1 # Surface

> « Stock

3 # Pie



4 % Radar

Question Number : 49 Question Id : 908988459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS Excel &, I IJTATT & 3TRX-92F F c@ & [oT I Y 39GFT ¢

Options:

| % WA

o of A AED

.

4.333@-{

Question Number : 50 Question Id : 908988460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
can automatically sort, count, total or average the data stored in spreadsheets.

Options:
1 « Pivot table
- #% Function

= % Macros

4 % Chart

Question Number : 50 Question Id : 908988460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Tfie # T 3T # TEaied ¥ § Aic, Fadl, $o ar Aed X FHaT ¢

Options:

| v MEE &
o % Terele
gaﬂﬁ-ﬁ?

4 % TME



Question Number : 51 Question Id : 908988461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
is a basic method of authorizing someone.

Options:

, w» Phishing

> % Shiffing
- % Monitoring

4 « Password

Question Number : 51 Question Id : 908988461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
fordr @ 31fpa == F1 7o aleT 2l

Options:

, w TRfRmET
5 » TESTomeT
5 % HATET
4 v THIS

Question Number : 52 Question Id : 908988462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
is a rare type of computer virus that attempts to install itself into a file by filling in the empty sections of a file.

Options:
1 ® MBR Virus
> % Memory virus

= % Stealth Virus

4  Cavity virus

Question Number : 52 Question Id : 908988462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



TF GA THER 1 FOYET AIH ¢ S BB 5 Wl Bael H E Hsd H Fa SEI g
FT TATH FIT 2
Options:

|« THEBST Fd (MBR Virus)
., % FHAN IITH (Memory virus)
. » FEIeY IATH (Stealth Virus)

. HIIEr AFTH (Cavity virus)

READING COMPREHEMNSION

Section Id : 90898857

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 90898857
Question Shuffling Allowed : Yes

Question Id : 908988463 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cesticn Label © Comprehension



Monks in Meditation

Three monks decided to practice meditation together. They sat by the
side of a lake and closed their eyes in concentration. Then. suddenly, the
first one stood up and said. “I forgot my mat”. He stepped onto the water
and miraculously walked across the lake to their hut on the other side.
‘When he returned. the second monk stood up and said, “I forgot to put
my washed clothes to dry”. He too walked calmly across the water and
returned the same way. The third monk watched the first two carefully in
what he decided must be a test of his own abilities. “Is vour learning so
superior to mine? I, too, can match any feat you two can perform”, he
declared loudly and rushed to the water’s edge to cross it. He promptly
fell into the deep water. Undeterred, the wet monk climbed out of the
water and tried again and again, but failed. The other two monks
watched. After a while. the second monk turned to the first and said. “Do
vou think we should tell him where the stones are?”

Sub questions

Question Number : 53 Question Id : 908988464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What did the three monks decide to do together?

Options:

1 % Wade across the water.

- % lest their memory.

3 « Practice meditation.

4 % Ity out their abilities.

Question Number : 54 Question Id : 908988465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Why did the first monk get up?
Options:

, » Hewas hungry.

-  He had forgotten his mat.

= % He could not concentrate.

4 % He wanted to stretch his limbs.

Question Number : 55 Question Id : 908988466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Why did the second monk stand up?

Options:
, » Hewanted to see where the first monk had gone.

- % He needed something from the hut.

- » He was disturbed by the first monk.

4  Hewanted to put his clothes to dry.

Question Number : 56 Question Id : 908988467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Why did the third monk decide to get up?

Options:
1 + To match his skill with that of the other two.

> % To cross the lake before the others.
= % To swim over to the other side.

4 # To show how fast he could be.

Question Number : 57 Question Id : 908988468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Why were the two monks able to cross the lake easily?
Options:

. w Their penance was superior.

o « [Ihey had stepped on stones in the shallow part.
- % [Ihey had mastered the skill of walking on water.

4 % Their powers of balancing were better.

Question Id : 908988463 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label | Comprehension
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Sub questions

Question Number : 53 Question Id : 908988464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
d Mgt 9 v& @ty F1 F F haer BHar?

Options:

| % TS TS 9 H AN H B

- % 3Tl TTEered T TETUT il HT

5 v U AEUTH &

4 % HUST STHATHT FF A= @

Question Number : 54 Question Id : 908988465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ggeT e Fr 33 Y

Options:
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Question Number : 55 Question Id : 908988466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
gHT e T 35 e g3m?
Options:
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Question Number : 56 Question Id : 908988467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

JTET WY F 35 HT BHem F4I fHar?
Options:
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Question Number : 57 Question Id : 908988468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ar 378y 3o § Ee R e H WEH F41 T A2



Options:
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CUANTITATIVE APTITULE

Section Id : 90898858

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 90898858
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 908988469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What should come in place of the question mark (?) in the following question?

5163 — 4018 +~3209=7
Options:

1 % 4174

5 % 4264

= % 4804

4 4354

Question Number : 58 Question Id : 908988469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



f=fofT vea 7 veaams B (?) & 98 W 47 g

5163 - 4018 + 3209 = ?
Options:

| % 4174
, = 4264
- = 4804

. 4354

Question Number : 59 Question Id : 908988470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Study the question and the statements and decide which of the statement(s) is/are necessary to answer the question.

What is the area of a given right-angled triangle?
I.  The length of the hypotenuse is 5 cm.
II.  The perimeter of the triangle is four times that of its base.
III.  One of the angles of the friangle is 60°.

Options:
; % OnlyIl

> # OnlyIII
% % Either IT or IIT

4 « BothIand III

Question Number : 59 Question Id : 908988470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:
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Question Number : 60 Question Id : 908988471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What will come in place of question mark (?) in the given number series?

264 262 271 243 308 ?
Options:
1 ® 216

> % 163
s % 194

i w182

Question Number : 60 Question Id : 908988471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

a1 % TEIT HEOTHT F WeAGIs NEA (?) F FAIg W F gEm?

264 262 271 243 308 7
Options:

% 216
. % 163
5 % 194

L v 182

Question Number : 61 Question Id : 908988472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

How much will a sum of ¥ 7,250 amount to in a span of 2 years at 6% per annum under compound interest (rounded off
to the nearest integer)?

Options:



, % 8,176

- o 8,146

s % 18216

. 8,170

Question Number : 61 Question Id : 908988472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

% 7,250 1 Tf¥ &1 Ier Faar gem, OfE 2 99 & v swefE sme 6% Iifte W fomm ST Aweaw
qUites & FATT & &2

Options:

 » 28,176
. v 28,146

. % £8,216

cn TB1Z0

Question Number : 62 Question Id : 908988473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The bus fare between Raipur and Mirpur for one adult is six times the fare for one child. If an adult’s bus fare is ¥ 114,
how much amount (in %) will be paid by 4 adults and 5 children together for travelling the same distance?

Options:
1 % Z505

Question Number : 62 Question Id : 908988473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Torw & T TR AR AR F 99w @ T a== & R o &1 oy e g ol awes w
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Options:



% ¥505
- v 551
- % ¥572

. % 560

Question Number : 63 Question Id : 908988474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Hr= "‘2—3 then the value of /1 + x + 1 —x is:

Options:

Question Number : 63 Question Id : 908988474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
R x=2 % & Jitx+Vi—x & AT Bhaer gem?

Options:

- ® 3
&
= ® *'."E
4 % 1
GEMERAL MEMTAL ABILITY AND REEASONING
Section Id : 90898859
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 6



Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 90898859
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 908988475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The following question, a group of three/four inter — related words is given. Choose a word from the given alternatives

that is similar to the given words and hence belongs to the same group.
Iron : Copper : Zinc

Options:

1 % Ceramic

> # Carbon

3 « Silver

4 % Coke

Question Number : 64 Question Id : 908988475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. % ﬁﬁ'ﬁl—vﬁ

o % e

3 o ﬁm

4.%-3m

Question Number : 65 Question Id : 908988476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



In the question given below, there are two statements labelled as Assertion (A) and Reason (R).
Mark your answer as per the codes provided below:

Assertion (A): A ship rises as it enters the sea from a river.
Reason (R): The density of sea water is higher as compared to river water.

Options:
, « Both A and R are true and R is the correct explanation of A.

> % Both A and R are true but R is not the correct explanation of A.

= % A s true but R is false.

4 % A s false but R is true.

Question Number : 65 Question Id : 908988476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Two statements are given. There may be cause and effect relationship between the two statements. These two statements

may be the effect of the same cause or independent causes. These statements may be independent causes without having
any relationship. Read both the statements and mark your answer:
L The prices of vegetables have been increased considerably during this summer.

II. There is tremendous increase in the temperature during this summer thereby damaging crops greatly.

Options:



1 = statement I is the cause and statement IT is its effect.
> « statement I is the cause and statement I is its effect.

w Dboth the statements I and II are independent causes.

w both the statements I and II are effects of independent causes.
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Choose the odd numeral pair / group:

Options:
1% 21:24
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Options:

L % 21:24
, % 28 : 32
2 ¢ 54 1 62
4% 70 : 80
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In a certain code, ROAD is written as URDG. How is SWAN written in that code?

Options:
, % VXDQ

, v VZDQ
T R VZCP

. x UXDQ
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oy f¥aa T &, ROAD %I URDG for@r Sirar g1 ar 38 g & SWAN w1 $o forgr smeem?

Options:

| % VXDQ
., v VZDQ
. » VZCP

. = UXDQ
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If all the letters from A to Z were writtenas A C E G_upto Y, i.e., dropping each alternate letter, leaving blank space
and then all the blanks were filled in with remaining letters in reverse order. i.e.,, AZCXE V...... ending with B,
answer the following question:

Which letters would be to the right and left of G?



Options:
1 % PandN

-

> % Rand T

Fand H

F-’J
4

4« TandV
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The birth place of iconic personality. Amrita SherGil, is:

Options:

L Hungary

> #% India
= % Austria

4 % Poland
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The approximate diameter of the earth is

Options:
; % 4200 km

5 % 6,400 km
5 « 12,800 km

4 % 15,600 km
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The apex institution in the sphere of Agriculture credit is:

Options:
1 % State Bank of India

> % Reserve Bank of India

- » Regional Rural Bank

4 v NABARD
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Open market operations, one of the measures taken by RBI in order to control credit expansion in the economy, means:
Options:

; « sale or purchase of Government Securities.



- % issuance of different types of bonds.

- % Aauction of gold.

4 # to make available direct finance to borrowers.
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Which of the following elements are present in all protein:

1. Carbon 2.Hydrogen 3.Oxygen 4. Nitrogen

Options:
1% 2&3

5 % 1,2 and 4
5 % 1.3 and 4

4 v 1.2,3and 4
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1% 2&3
, x 1,2 3K 4
.« 1,334
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The Arva Samaj was founded by:

Options:

, « Swami Dayananda Saraswati

> % Swami Vivekanand
= # Keshav Chandra Sen

4, % Ishwar Chandra Vidyasagar

Question Number : 75 Question Id : 908988486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T AT ST FA9aT e &1 f?

Options:

| v AN g TEED

o ® Hﬁﬁlﬂﬂﬂﬂ?{

, x 33 I TEEIEER

Mock
Group Number : 2
Group Id: 90898837
Group Maximum Duration : 5
Group Minimum Duration : 5
Revisit allowed for view? : No

Revisit allowed for edit? : No



Break time: 1
Mandatory Break time: Yes
Group Marks: 0

English Typing Test

Section Id : 90898861

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 90898861
Question Shuffling Allowed : No

Question Number : 76 Question Id : 908988487 Question Type: TYPING TEST Display Question Number : Yes
Wormens History Month is an annual declared month that is traditionally held in March, but the study of
woITens history is valuable all twelve months of the yvear. Women hawve overcorme daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.

Restricted/ Unrestricted: Unrestricted

Par agraph Display: Yes

Evaluation Mode: Non Standard

Keyboard Layout: Inscript

Show Details Pandl: Yes

Show Error Count: Yes

Highlight Correct or Incorrect Words: Yes

Allow Back Space: Yes

Show Back Space Count: Yes

Actual
Group Number : 3
Group Id: 90898838
Group Maximum Duration : 15
Group Minimum Duration : 15
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 0

English Twyping Test

Section Id : 90898862
Section Number : 1
Section type: Typing Test

Mandatory or Optional: Mandatory



Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 90898862
Question Shuffling Allowed : No

Question Number : 77 Question Id : 908988488 Question Type: TYPING TEST Display Question Number : Yes

e do not always need to add more things, in order to become successful. Sometimes, we only need to give up
ol some of therm, Although each one of us has a different definition of success, vet certain things are
cormpletely universal. 5o, if you give up on therry, you will be more successful. While giving up sorme activities
may consume a bit of your time, there are some activities or habits that you can give up right at this moment.
50, let us begin with what should be eliminated from your routine. Give up on the unhealthy lifestyle. 4
healthy lifestyle is very important for every human being. If yvou want to achieve anvthing in life, always
rermermber that everything starts here. You need to take good care of your health and keep only two things in
mind, namely, healthy diet and physical activity. These are just small steps. But, vou will thank yourself one
day. Give up the short term mindset. To become a successful marn, you need to adopt good short term habits
and practice the same every day. These healthy habits will slowly transform vou into a successful personality.
Give up playing small. If you never try and take great opportunities, or allow your dreams to become realities,
vou will never be able to recognize your true potential. Moreover, the world will never benefit from what you
could hawve achieved. So, voice your ideas, do not be afraid to fail, take risks and certainly do not be afraid to
succeed. Give up your excuses. Successful people understand their responsibilities towards their life. They do
hawe their starting point, weaknesses, and past failures. But, they do not stop moving towards growth and
realize the fact that they are entirely responsible for what happens nesxt in their life. They welcome both
frightening and exciting experiences with open arms. Give up the fized mindset. In a fixed mindset, people
believe that their intelligence or talent, are simply fixed traits and that talent alone can Creates success. Such
people neglect the value of efforts. Hence, if you want to be successful, you need to invest an irmmense armournt
of time in developing a growth mindset. Your focus should be towards acquiring new knowledge, learning new
skills and adopting a positive perception. Give up your perfectionism. Mo matter how rmuch we try, nothing will
ever be perfect, as different people have different definitions about perfectionism. Something that is perfect
from your point of view, may not be the same from others perspective. A150, you M3y 10se many opportunities
in life, if you keep waiting for the things to be right. So, it is important to act than being right.
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